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If log (?) = %(:logx + logy) then the value of §+ % =4

log (%) = %(l@gx + logy) a0 E—I— % Qe ?

Options :

1.¥

8
2. %
3. %

9
4. %

Question Number : 2 Question Id : 4796971361 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of positive divisors of 68600 is

68600 mg& 6 rasrw "rcoa::is

Options :

48

Question Number : 3 Question Id : 4796971362 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Evaluate Y1372 x V1458

Y1372 x Y1458 B, DD SAF 3052?
Options :
120

126

130

136

Question Number : 4 Question Id : 4796971363 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A={x:xisaleter of the word MISSISSIPPI} then
n(4) =
A={x:x®38 MISSISSIPPI o3 Hc30e5°D wsore DS}

eaNHINED. n(4) =
Options :

4
1.¥

11

Question Number : 5 Question Id : 4796971364 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Gopi sold a watch to Ibrahim at 12% gain and Ibrahim sold it to John at
a loss of 5%. If John paid ¥ 1,330 then, find how much did Gopi sold it?
B 28 AAArEA00 12% P30 B0 FL WALRD.  BLTO
TR 5% DRDODLD 27 D VAL, D B (E.OITG0 F0LDH ]

1,330 390 H2 &5 HEAITE20080 oL 920) K07
Options :

< 1400

Question Number : 6 Question Id : 4796971365 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
. 3 .
Rani read = of a book. If she finds that there are still 80 pages left to read.
then the total number of pages in the book 1s

208 DHLGoeS” Tred ; S Dodod BAD. RogAr 80 DB WADID @
o°ed (20 DoDA, &5 VLS’ D oo D Doady

Options :
150

1. %

200
2.¢

300
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Question Number : 7 Question Id : 4796971366 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The average of the squares of first 50 natural numbers 1s

200658 50 P "rooa:@u ;ﬁtg'ﬂu 060

Options :
1817
2
1. %
1717
2
2.9
1517
3. % g
1617
4. % 2

Question Number : 8 Question Id : 4796971367 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the simple interest on T 15.000 at the rate of 8% per annum for 2
years (in Rupees)

215000 © 2 2053078 8% e BeDd 2 VoIS TV wady ereIG
Doeh? (85.ee5°)
Options :
4200

1. %

2400
2.

2200
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Question Number : 9 Question Id : 4796971368 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The roots of the equation x* — 5x2 + 4 = 0 are

x* — 5x2 4+ 4 = 0 03 HAE6) SoTeren

Options :
o e e |

1. %

2i—1.—2
<

— ol —3 —2

3. %

A L7
4, %

Question Number : 10 Question Id : 4796971369 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3 12 7 & 18
If —+ =— and —+
xty 2x—y 3 x+y 2x—y

11
= . then xZ+y?=

o S EV < g .
x+y+2x_y—3 Seblolontl) x+y+2x_y 5 WO, xT+ Yy

Options :
34

41

Question Number : 11 Question Id : 4796971370 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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For (k = 0), if the quadratic equation kx(x — 2) + 6 = 0 has two equal
roots, then find the value of k?

(k #0) 2% kx(x —2) +6 =10 3 3¢ 2AEBEIA DL Do) DATD
TTRD 0T &0, K Alng); DeHR0 SAHR000?
Options :

-~

1. #

Question Number : 12 Question Id : 4796971371 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If p(x) = 4x1* — 8x% 4+ 7x> + 6x3 + 4x2 + 5x + 6 then the number of
Zeros 1s

p(x) =4x't —8x° + 7x> + 6x° +4x* +5x+ 6 @ond  HEy
eSS Roag

Options :

-

1. %

11
4. ¢

Question Number : 13 Question Id : 4796971372 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 7175



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action

; 3
If sinx = = then tan x + cotx =

: 3
sinx = - esoed, tanx + cotx =

Options :
12
5
1. #
5
12
2. #
25
12
3.9
12
25
4, %

Question Number : 14 Question Id : 4796971373 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The median of the given data is

QR BSTroFo VL), HG|ito

89. 45, 56, 67. 89, 78, 45, 78. 45, 67

Options :

Question Number : 15 Question Id : 4796971374 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The area of the triangle whose vertices are
A(2,3), B(—1,0) and C(2,—4) (in square units) is

A(2,3),B(=1,0) 08ai0 €(2,—4) 3Igrenr $dAD Sz Doy
(6565 DeETees’)

Options :
-q
P (F

10

2. %

10.5
3.¢

11

4 %

Question Number : 16 Question Id : 4796971375 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the total surface area of the cuboid if length 1s 12 cm. breadth § cm
and height 1s 10 cm (in cubic cm.)

12 20.. TE. 8 Do.aD. D&y, 10 20.20. IBorT G0 BY 20530
D), DoIPIIL PTTe0 (£0.20.25.0¢5°) docd ?

Options :
792

1. ®

692

2. %

h
=]
-2

3.¢

Lh
=)
2

4.%

Question Number : 17 Question Id : 4796971376 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Match the following:
Sod GTroFo 2¢ DOTSAWD.

5.8.14.7.9.5.11.5

Group — [
1) Mean D050
1) Median Soa(rico
i) Mode eTITOY S0
iv) Range :.10533
Options :
i—d.i1i—a . i—c,iv—>b
1. ¢
1—a,n—b.ui—c. iv—d
2.
\ 1i—d.1i—c,ui—b,1v—a
i—d,i1—c 11—a,iv—>b
4, %

Question Number : 18 Question Id : 4796971377 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

A sector of a circle with radius 14 cm makes an angle 90° at the centre.

g21.digialm.com/CAE/viewHtmIPDFAction.action

Group — II

a) .5
b) 9
c) 5

d) s

Then the perimeter of the sector is (in cm)

14 20.20. T§FGo (0 3085’ 2.8 B33 Pocto D Eogo 3¢ 90° E'eao

BOIDED. €3 JBDoEY) totnEed (Do.d.ee’)

Options :
| % 14+ 7n

7+ 14m

7+ 28m

3. %

L v 2847

https://g21.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 19 Question Id : 4796971378 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If two unbiased dice are throwned at a time, then find the probability of
getting the sum of the number on the dice 1s 10?

S0y Jary£e DSV FPoIIPE, T B By @ose dwdo 10
e.ooi'm?g 200D "fooa,r;bisej

Options :
1
1% 6
1
) 12
1
3. 9
1
4 % :

Question Number : 20 Question Id : 4796971379 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One card 1s drawn from a well shuffled deck of 52 cards. Then the
probability that the card will be a face card is

e Q0D DE 20K © SRS 52 200K © Aoc 2w ) R Ao
08 008 WG HA0E); VLIS VoIS

Options :
1
| % 13
3
13
2. ¢
5
3 % 13
7
4% 13

Physical Science
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 4796971380 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The resistor of resistance R is connected between the terminals of a cell
of emf E and internal resistance r. The current J through the circuit is

oo Mg, ddogEEyws weo E - 2wdain @o@ﬁc‘lgc:ao - 1

00R0EPA0Ld LGS AFESSI0 g, TG0 R e9andine. dwasod”

Hairedod Desodd pIEro. 1

Options :
E
1 ] Rr
E
R+r
2. %
R+rT
3 ® E
2 +r
R
4, =

Question Number : 22 Question Id : 4796971381 Question Type
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which waves are used in the device ‘SONAR’ ?
FE DOEG0S” &HAHOB BSorren DD?
Options :

Audible waves

| % asb?s eddormen

https://g21.digialm.com/CAE/viewHtmIPDFAction.action

479697110
2

Online
Mandatory
10

10

10

0

1
479697119
Yes

: MCQ Option Shuffling : Yes Display Question
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Ultrasound waves

" wéc‘,ﬁ&b &BSorren

Infrasound waves

5 % 0SCD Sdorren

Light waves

4% SPoed Sdorren

Question Number : 23 Question Id : 4796971382 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If 5A current flows through an electric iron. it produces 507J heat in one
second. the potential across the electric iron will be

DO B DES° 5A DAogdo DOHPRDY DD 1 DED S0’ 507

&R0 EB D REOMBB. A DG 2P0 PHod S ¥ 0
Options :

L 10V

Question Number : 24 Question Id : 4796971383 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Coal fired power plants emit
£5° (500 B006oR) DEFBIR &3\D B Sogred” arrdo Bl

Options :
Magnesium (Mg)

| f) hawo (Mg)

Aluminium (Al)
, # @ar(bAobo (Al)

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 13/75



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action

Mercury (Hg)
3@ md:%& (Hg)

Silicon (S1)
4% ~Os0S (Si)

Question Number : 25 Question Id : 4796971384 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Blue planet is
D9 szro :

Options :

Earth
| @ B

Mars
) % OO

Venus or Saturn
o B050¢) I 3D

Jupiter

£ aTo R~ e
4, % ” J

Question Number : 26 Question Id : 4796971385 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If temperature of warm water is 40° Celsius and that of warm milk is
95° Fahrenheit, which one of the following sentences is true?

D& B e de 40 dhe 200D, & Fv eT'(s 95 Aho F6D

a5, $00 RILWED TS (RS” DO DOHA?
Options :

Milk has little greater temperature than water and
warm.

Sren be&gaocl Eam damra dain SoBo wds

| S0 S eotrow.

Both have same temperature.

, % 006 28 e DA cotrow.

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 14/75
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Milk has lesser temperature than water.

L D gmry e S5 D et $Oh eotrown.

Milk has higher temperature than water and hot.
Fren VST wHS e'de dako & 98

4 % GOeTOX.

Question Number : 27 Question Id : 4796971386 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 Newton = dyne
1 Sgd = [ods]

Options :

L% 10°

5 % 10*

5
3 10

, % 108

Question Number : 28 Question Id : 4796971387 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The temperature of water at the bottom of a large water fall is higher
than that of the water at the top. because

BoOdrs0e5"d e erroestd D &X' s, o eDddswo &' He

e,sg“;je:a 8T°) @O0, Jocagods,

Options :
The falling water absorbs heat from the sun.

S06S DCBOY Do “:&J"d.)vsci oc €320/ $ oS B0,

The water at the bottom has greater potential energy.

L BEAD 20" Db woE 02 28 DA cotod.

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 15/75
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The kinetic energy of the falling water is converted into heat.

|, Sood0a DBS fo (D2 3§ &ROM™ DPHSS.

Rocks on the bed of the river give out heat.

HES K Tl a&v:ﬁl 290 J°00.
4.% A -

Question Number : 29 Question Id : 4796971388 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following elements 1s highly reactive?

&1 S08 To83e5° DA eoHE 1:5::-:5%9_:@ £0AD Jrerdo?

Options :
K ( Potassium)

| v K(@eraao)

Ag (Argentum)

5 % Ag (e9g0ot0)

Au (Aurum)
3 % Au(esoo)

Al (Aluminium)
Al (erR2g0d0%00)

Question Number : 30 Question Id : 4796971389 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements of the following.

(1)  Bases would be soapy when touched.
(1)  Malic acid 1s present in apples.

(111)  Stearic acid 1s present in fats.

(1v)  Tooth paste is acidic in nature.

& 208 TS VTDH TV JothdEod.

(i) TR0 SPSIN)ED Ve T (20;600™) eotT=aw.
(ii) e3¢5 065 DS esano Gotnod.
(i) e’ oS esano eotnod.
(iv) £ 2)53 e9a) ‘Fagarmfj‘l Q%} oo,
Options :

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 16/75
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L w () & D)
) » (). (i) & (iii)
| (. GiD) & V)

(1v) only
4 % (1V) S,

Biological Science

Section Id : 479697111
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697120
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 4796971390 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following i1s NOT a fat soluble?

$08 To8S" ERPHS” 665D DD Bo ABosc.

Options :

Vitamin — A
l ©® 3@&5 = AAK

Vitamin — C
) D — C

Vitamin — D
3 % 02— D

Vitamin — E

% DODS-E

Question Number : 32 Question Id : 4796971391 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 17175
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What 1s the charactenistic feature of Eutrophic Lake?

O3¢5’ DS DRV DI VL0 DE?
Options :

Low level of nutrients

| TasTen 9D Frowd” Godito

Little organic matter
Dolosd Do B I Gocio

2. %
Low productivity
" ST\ GSS @QJEJ:JI'T“ €00

Very rich in nutrients
Deiyseen e D& ST eocidro

\'J?

Question Number : 33 Question Id : 4796971392 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The contraction and expansion movement of the wall of food pipe is
known as :

e ETITES” 208 208w, TED SBIL0 D DForr BevFrd>?
Options :

Peristaltic movement
v ::agvgé g5

Reverse peristaltic movement
;98¢ >0 DS 5659

Digestion
2060
£a

Nutrition
4w R

Question Number : 34 Question Id : 4796971393 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following cell organelle does not contain DNA?

2o 83e5° D grrorio e5° DNA &octcsn?
Options :

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 18/75
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Mitochondria
| x Do°arogosr

Nucleus
, % Sogso

Chloroplast
s x DB Br0D

Lysosome
4 @ TIE B0

Question Number : 35 Question Id : 4796971394 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of organs is an example of analogous
organs?

éoﬁrﬁ“mé 29350507708 GICIPORA) TITPY) 00T 2SR

oBotiod:.
Options :
Forelimbs of a human & bird.
| % S0P 0dat DE Jrovorren.

Wings of Butterfly and Bird.

y Horfe Qend Sudot HE o), en.
2. %

Heart of human & fish.
3 % ;53‘35‘);?_):) 200030 B fodk.

Leaves & tendrils of pea plant.

L QTR 2008) ' DBV Lot KO Sriew.

Question Number : 36 Question Id : 4796971395 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the main cause of acid rain?

€320 DTN LGDHETIS HEPD STGeso ?

Options :
Emission of carbon dioxide from vehicles

2RO TP AV0G SP0N\R Goire & errdo.
1. % &) =) 0

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 19/75
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Release of chlorofluorocarbons (CFCs) from
refrigerators
, D2ubLg ool E8DE 526, Do

Combustion of fossil fuels, releasing sulphur dioxide.
nitrogen oxides
e ROGTL BP0 HWD ilcijcsvcﬁjé P06

s o GOIENE, DD BsyE

Deforestation and land use changes

e0¢iaH® DOSDD J0BALY HyBE DA ;ﬁavcﬁ%m
4.%

Question Number : 37 Question Id : 4796971396 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Red Data Book contains data of

BE Ee e18 S0 T3S’ B H0e1080DD DATTEE0 SOA Eot0d.

1. Rare species WEOGBA 2o
2. Endangered species @oéﬁoﬁ)ﬁﬁmal 2P
3. Fossils Ferared
4. Vulnerable species BOGNODOD BT
Options :
2. 3 & 4 are correct
| w 2.3 & 428003
1 & 3 are correct
_ 1 & 3 2000AD

3 & 4 are correct
3&4 ﬁﬂ@a‘ai}

1. 2 & 4 are correct
1.2 &4 ".-aag.jna‘:b

Question Number : 38 Question Id : 4796971397 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Arrange the following living organisms in food chain in CORRECT
order.

So0d 2Hw 0313537 e5335GTY) Fenindy Ardod ESTel SbJ":)l

rBotSock.

Frog. Grass. Snake. Grasshopper. Eagle
Ey. (G, 000, WS, (5

Options :

Grass — Frog — Snake — Grasshopper— Eagle
A& —8Dy— P — DES - (36

1. %
Grass — Frog — Grasshopper—Snake — Eagle
(e —8Dy— DES - FPa - (316

2. ® [ @
Grass — Grasshopper— Frog — Snake — Eagle
(G — DES -8y = J0 - 316

3. v & =
Grass — Grasshopper— Frog — Eagle— Snake
e — oS —EDy = (e — oA

4 ® ey ]

Question Number : 39 Question Id : 4796971398 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of sex chromosomes in every human cell

DD ATDD S6308° G0l Johs §arE 0w Doy

Options :
22 pairs
| % 222de0

23 pairs
) #% 23 aden

1 pair
3. 1 22¢%

2 pairs

4 % 2 2O

Question Number : 40 Question Id : 4796971399 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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One of the following 1s NOT a better option to save the environment

from plastics.
28 © Aock DTFHEE DBBEE Tochwy 6D & 08 Do oG

S°l0.
Options :
| % Recycle  2podxsgoso

Reduce JeciSo dfioiod)
2. ® n

3 % Reuse DB o

i Recover DHBA ok

Geography
Section Id : 479697112
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697121
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4796971400 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following are the second order land forms?

308 Tr8e5° DD Tokd Fed BrdEraren?

Options :

Mountains. Oceans and Plains

DETren. H0BFR0ETAL BAIL EETED

Plains. Plateans and Continents
SOTITPe, f:ﬁﬁairaﬁmw 208050 wotren

Mountains, Plains and Plateaus

3 DO(TPR. QOTPIPLL D0O0IL DBHT A0
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Plateaus. Rivers and Plains
L, DOBTI00, BERO 208AH WD

Question Number : 42 Question Id : 4796971401 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following
S0& TrR) RSDCB0C.

(1) | Rakhi hills (a) | Vikarabad
oo Socten DSPToErE

(2) | Anantagiri hills (b) | Jagitial
oS30 Socen glagl O

(3) | Kandikal hills (¢) | Peddapally b‘ébg
SodHsged Sodcten

(4) | Balaghat Range (d) | Mahabubnagar
2T A8 Braven Sodeearred Hrid

Options :

L (1)-@): 2)-(): 3)-(d): 4-(b)
, x (D-(@):@)—(@):3)-(b):4-(0)
3.¢ (1) = (0):(2) - (a): 3) - (c): 4 - ()

4% ()= @)-(c):B)-(b):4-(a)

Question Number : 43 Question Id : 4796971402 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Tamil Nadu state receives low amount of rainfall by south west
monsoon because

DS 20E0 DIT 'V T°T° B T T80 SO SRtV R IE

oL o S°6E0
Options :

due to location in rain shadow area.
| o DF oD FrocdAnes” Ddo) Gokiro JOD

located in coastal area.
. B Frochoes” DDBotdEo DD
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located near to rayalaseema region.
TPODONE oS BHST G0t SO

3.%

located away from coastal area.
4 % OO Fromrdd BIrGSOIT &0t DO

Question Number : 44 Question Id : 4796971403 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match List-I with List-IT and select correct answer using code given

5808 Der-1 D arder-I1 & 28560 §& A0 edHArhod) D80
QAT A0 amlé“od,'?

List-T 2 eze-1 List-IT 2rDere-11
a. Konkan Coast 1. Karmataka
£0g5 Ado SOy 08
b. Canara Coast 2. Kerala
230 Ao ol
¢. Malabar Coast 3. Tamil Nadu
Aeerd Ao SOV T°C
d. Coromandel Coast 4. Maharashtra & Goa
E600ce5 &G0 2o & B

Options :
| % a-1,b-2.¢c-3,d4

» % a-4,b-3, c-1,d-2

a-1, b4, ¢-3,d-2

3. %

L a-4, b-1, c-2, d-3

Question Number : 45 Question Id : 4796971404 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ‘steppes’ in Eurasia are
Q3P GR0I" 657 Dy 9T

Options :

Tropical grass lands

&3 Vode e BIraen
% @ =
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Temperate grass lands
R20IFTY A B2

Tropical deciduous forests
&3 ok E‘.'?SJU"E‘:?;) enciadHe

TE‘lllp erate evergreen forests
RIITY VBB 18D 9PN

History
Section Id : 479697113
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 5

Number of Questions to be attempted : 5

Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697122
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 4796971405 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This metal that was not used by the people of the Indus Valley
Civilization 1s

206 5°0h TPHBSS H2ew N3N 5o

Options :

| » Copper o°f

, x Silver Dok

; % I Si80
4« Iron DR300

Question Number : 47 Question Id : 4796971406 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The chronological order of the following 1s

Sod T8 s 500

1 Formation of USSR.

USSR S}U“DQ.D.
2 Japan’s attack on Perl Harbor.
DO 66 D 2D wC.
3 Nazi party came to power in Germany

ea.dg}bﬁ& v, ‘%vg &S S0 65°8 TP 0.

4 Germany’s attack on USSR
USSR 2 26,2 oé.

Options :
L% 1,2,3,4

2. W 1324
;% 2,1,4,3,

L% 3.1,4,2

Question Number : 48 Question Id : 4796971407 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in chronological order:

&1 $08 oL st 005 @md&od‘.

[

. Mahatma Gandhi’s return to India.
m::ﬁmé’moé ROCO35°E) HBA TPAEO .

2. Passing of Rowlatt Act.
S5 S 5D BendEo.

L]

. Ahmedabad Mill Worker’s movement.
@b&mwcﬁ) QoD svﬁée‘ou atésb:o.

4. Launch of Champaran Satyagraha.
Soa6es DT((Iro esdoo.

Options :
[ %x1,2,3,4

s
-2

2'\;;»’ 1.4

2 x BB

[
—t
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L%3.2,4,1

Question Number : 49 Question Id : 4796971408 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Establishment yvear of League of Nations

TeTrerd DD gviao&:o RodHGo
Options :
L w 1921

5 % 1918
3 v 1920

, % 1919

Question Number : 50 Question Id : 4796971409 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The writer of Gatha Saptashathi
TPE° DD3G v

Options :

% Rudra Varma BBDHG)
. Simuka D30

; « Hala oo
, « Balasri erOR

Political Science
Section Id : 479697114
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697123
Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 4796971410 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Article 356 of the Indian constitution deals with

6 TPejorioes’ D 356 & Qs HIS Roe0dood.
Options :
Financial Emergency

e3¢ e.ee:&émjs ~ed
& @

President Rule

ToRND PO
2.9 =

Grants-in-aids

3 % Bgs QDfoo

Finance Comumission

. 20 SAD

Question Number : 52 Question Id : 4796971411 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following in chronological order.

208 T3 seerd Jedorr RGNS

1) Economic liberalisation.
€58 DOEVECE.

2) Implementation of Mandal Commission
recommendations.
0060 SN DI\ wSoew.

3) End of Emergency.
@@5;5‘63':5 :Jﬁfg@ 20000Y).

4) Launch of operation Barga.
e300 e esdoZio.

Options :
% 2,1,4,3
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s x 4,201,3

L x 2124

Question Number : 53 Question Id : 4796971412 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The year in which the Criminal Legal Amendment Act (Nirbhaya Act)
was implemented by the Central Government is

06 DB DTGNS SAHES THOL VG B0 (DGO W)

©50e065°8 DD DodB o
Options :
;v 2013

, % 2014
5 % 2012

4 % 2015

Question Number : 54 Question Id : 4796971413 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The government shall give free and compulsory education to the
children between 6 vears to 14 years. This is a part of the following
right

6 2008 142058 070 HADRVY DYLL DIV GDS, D630 De3§d

gdyorrd. b & ::ve%é" 23°t50.

Options :

Right to Education and Culture.
. FroR) B8, Doy DODE &),

Right to Life.

2o T
2.%

Right against Exploitation.

. iac:ao:}l DB Bodd U
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Right to Equality.
RATRBGY ‘t’me‘ob.
4, ®

Question Number : 55 Question Id : 4796971414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The part of the Telangana Legislative Council members being elected by
the teachers 1s

FoRD ocdd ;)aﬁl:.u Soedd "roe;’u?ge.:a‘:a a&’mﬂém-w J.lm;l&‘ooérda?

Options :

a 1

—th — D Doehd
1.« 12 12

1 1

—th — & Sohd
) % 6 6

1 1

—rd — S Do
3.% 3 3

1 1

—th — o ad0ehD
4 % 4 4

Economics

Section Id : 479697115
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697124
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 4796971415 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Dearness Allowance is paid to the government employees using
&I esgedorr DB SO BSgo Do 6‘%608) s {05 @0sER.

Options :
National income

| % 2O esmroo
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Per capita income
5 % DUV0 esTrodo

Wholesale price index
5 % 85°50 B8 LD

Consumer price index

4.

" DA ARG GoL TR

Question Number : 57 Question Id : 4796971416 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0
This 1s an example of foreign multinational company

BB T ;::-ogs: e le o)

Options :
L% Ranbaxy oS emSy
., Asian Paints D05 DOy
Sundaram Fasteners Aodido @ﬁgéﬁh
i Cargill Foods s"gﬁ D&y

Question Number : 58 Question Id : 4796971417 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statements related to the impact of Industrialisation.

FOTAEE6e DTS HoLoBoDDd tSlelen bl ms“éﬁ‘l OBoti0c:.

I1.

I1I.

IV.

Options :

It created employment opportunities in urban areas.
QA DL PP GG WITT LA X008,

It led to significant environmental pollution.
26 (EDODDD DTYDERH Sevar(IS 8 GDod.

It decreased the population of urban areas.
QA DL FOTPR BT SHoDos.

It made rural agriculture obsolete .
2B A SDIBrD) TEES" Footr B0,
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I and IT [ 208030 11
1.+
5 % IT and III IT 20o8a0 III
- ITT and IV IIT 208ai0 IV
4 % land IV I 208030 IV

Question Number : 59 Question Id : 4796971418 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the final good from the following.

208 TG o DDA Botdod:.
Options :

Idli made by a cook 1n a family.

., 2,8 £Henoe0es” €5 BHD 2.
1. =

Wheat produced and sold by the farmer to the floor mill.

, x 080 DoGodd HEMOH Hod Qe Dgowotsco.

Shirt buttons sold by a shopkeeper to a tailor.

. S5, BO0A R 28 EOSETECEIED asg & Dawotdcio.

Paper sold by a factory to a book binder.

28 ST°| TG0 DRE Bokd & DFaweddd HDS.
4.%

Question Number : 60 Question Id : 4796971419 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
GSTisa

GST eosdme
Options :
Direct tax levied on income.

. e2E°0H00 33 DGO DAL DAY.

Single tax replacing multiple indirect taxes.

v 220 HE'E DA © gvaoé“ 28 DA .
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Tax on wealth.

R0DG D ::.ml.
3. % =

State-level direct tax.

T°R) FPo DAL DAY .

4.33 —

Teaching Aptitude
Section Id : 479697116
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697125
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 4796971420 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The most important characteristic of an effective teacher is
DA I0BED SIEPIoIND H0e| LEE0
Options :
knowledge 1n the subject matter.

Frslowt 36%{5"&0

knowledge of teaching methods.

5 ST DPSowP DB Do.

commitment to the learner.

(RSO 2)&)%@

knowledge of evaluation.

m@éog.:m

Question Number : 62 Question Id : 4796971421 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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During the course of teaching. the teacher should take the students from

T H3o%eS eangosmm S’)m?sgaum 33:‘5&@ 2rgo

ot

Options :
known to the known.

|, 89D D00k 899D 8.

known to the unknown.

, v 802D &rDo0d DAL T

unknown to the known.

| » 390D TAa0d 3OBD DS

unknown to the unknown.

4 % BDADI or0d 3D os.

Question Number : 63 Question Id : 4796971422 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Complete silence in the classroom 1s an indication of

BO6S AAS° DoRTE Do SIS VoEBHN?

Options :
poor management of class room.

L SENSHES engdadd 365;’3"9;.

lack of motivation.

, % 2O FET Do,

lack of interest.

5 % 808 F8)°Sdco.

fear of punishment.

4 % GOED ZaDA.

Question Number : 64 Question Id : 4796971423 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Students learn better if they were
o"Jcr*?Sg DG WE) T Doy Eotrciods

Options :
taught in their mother tongue.

| ST €57 BoDDN) .

punished for their errors.

5 % BNV 35 DBoDBYNED.

taught in foreign language.

L x DB RS G

imposing strict discipline.

SBODMD S0FEe DBoDDINED.

Question Number : 65 Question Id : 4796971424 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s considered as motivated teaching?

308 To8¥e5° DA Her SDRD 5507

Options :
Students taking notes.

| DoEgdoen Sewy TR0 Do,

Maximum attendance of the students.

3@5639 (833 Sb20.
2. % S =

Students maintain silence in the class.

SEHED (16¢5° Deew D yerdy FeSotscio.
3. % 2 @

Students asking questions.

v 57 eddoTees Dergdoen H3I) wcico.

Question Number : 66 Question Id : 4796971425 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Those teachers who are popular among the students?

208 865" DK Dw'égaufﬁ @j“d’bﬂ"‘éﬂi ToBD eogTgsRL?
Options :

develop intimacy with them.

. &Jm“ég:wé? OOy boﬁa?a;lmda.

help them to solve their problems.
Qm"ég)m &0 ‘é);ﬁa‘déum ‘Tbﬁﬁbﬁod}%ﬂ ALV oD
5 & DEITED.

award good marks to them.

E)migdausb T ;:md%w DTN,
3. % = 0

punish them in the class.

SE6S &° DejBoend 3L 0BT W),
4. % @

Question Number : 67 Question Id : 4796971426 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Remedial teaching 1s meant for

3o Bdoh DH0S &B0ts ectod?

Options :
intelligent students.

2923 Dorydowsd

economically affluent students.

) Hgacm 2DAE ED Qmégjve‘a.

students with learning difficulties.

DD DD DIejdoers.
3.¢ "

gir]l students.

s Qmigd:vga.
4, % )
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Question Number : 68 Question Id : 4796971427 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
The Prime objective of conducting examinations in schools 1s
FET0S” DorfdRoRE DL IO Tocees” B0 (B30
Options :

to promote discipline among the students.

Smsdavﬁa S203E60 chcstmeas;.
1. F i

to know whether the objectives of teaching have been
achieved.

- 5O LTI DO BeR0E B,

to promote reading habit among the students.

&3:5‘*5%3065 DETPRED DT o0,

to promote leadership qualities among the students.

E)m“sgamﬁs TPODESB] LLEFL DoToS ot
4. %

Question Number : 69 Question Id : 4796971428 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one among the following is a teacher centred method of
teaching.

206 °8S° DO eTrrrioD Sodd 5° ST DHS?
Options :

Problem solving method.

-;ama»g ‘:’.J-ﬁ&“bd DASS.

Project method.

- SELH DSS.

Observation method.

DBIVD DED.
3. % =3
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Lecture method.
5:33"_‘5?’0 G5e3.
4.9 e

Question Number : 70 Question Id : 4796971429 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

I prefer teaching profession. because

DR 5’ BDDQD FRDET RO, DoGL0ES
Options :
it’s a leisurely job.

DOED esédo.
1. ¥ o

most remunerative.

& JBS NZo O,

to build the nation.

5 v 08 GF°) DO RVb.

to enter into politics.

orasaires’ HIVoSErS.

Question Number : 71 Question Id : 4796971430 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher should enable the student to

& Eriosc. e AE 0 DATODS DD

Options :
| express freely. DS dS$Botscio.
. maintain silence. Q0 0 Fedotdcio.
rote learning. meé D8ouscio.
4 % SCOTe more marks. QSJ?TSQ ;fU"CbETw o o.

Question Number : 72 Question Id : 4796971431 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
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Correct Marks : 1 Wrong Marks : 0

A teacher should mculcate among the students

208 &évm“?go:mm Smggaue.‘i& SULLITIREAS

Options :
|« Imposed discipline. 20756 RDCTCo
, » Self-discipline. SN HERTEE )

3 % Robotic characteristics. 0650 £ET7en

L Split personality. i'a%éS (Dooesg) D58 0

Question Number : 73 Question Id : 4796971432 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
How could you handle a student who is finding it difficult to understand
the concept?

53 wdo B8 dco0es” Q2308 DT 00D :3:::-:59:.} 9D Desorr

DEEros0?
Options :
Making the student to stand on the bench.

€2 DEP(BR S0 P JuBET .

Asking the student to write the concept 20 times.

&5 e B erdDD 20 FE> TroBB0D TR,

Asking the student to attend the remedial class.
es bmggf,} BaaoieS (f@éséadm) SHOHDS P26

v 8230 D DIR.

By giving corporal punishment.

F0GE oD QOO TPLT®.
4, %

Question Number : 74 Question Id : 4796971433 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Teaching should be

5T 0D
Options :
Subject centric. 203 Sodorr
1. %
Student centric. 3@56 Sogorr
irs]
2. ¢ :
. Teacher centric. a&m5m3 Sogorr
3.
Examination centric. 88 Zogorr
4. %

Question Number : 75 Question Id : 4796971434 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Conceptual clarity 1s possible, provided if teaching takes place in

RIS VYRS & 'O HY FG[o

Options :

L mother tongue. bub il KA

) foreign language. DB
regional language. SroBaier

, national languages. 2r8aberh

Question Number : 76 Question Id : 4796971435 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The school environment that 1s congenial for children with special needs
1s

RB(S VOVT W (o DVOL WBRETVIVD FETO T TSGR0
Options :

special schools.

% D8 FroTow.
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integrated schools.

. DL FETOD.

inclusive schools.

“@D}é@@ SredTreew.
3.

normal schools.

Drordes SrETOR.

Question Number : 77 Question Id : 4796971436 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main purpose of giving home-work to the students 1s
DTy ed QoD RDG ), DESF [0
) @
Options :
Keeping them busy at home.

s Q08356 DIS” Dok 2o eouseDS.

To help the students to review what they have learned.

T D00 D DL o s,

To punish them.

TR LOVTTROS.

3. %

To reduce teachers work load.

&.5“;5“50113@ DD HRoBEIS.
4.4 o

Question Number : 78 Question Id : 4796971437 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
While teaching, if there 1s some disturbance in the class. then as a
teacher what you should do?

Foe)) 5 B0ty WIRIDNED SE(BS” DB estroto 2BAVIHE Dy
EFEejoinIT DD BoBOR?

Options :
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Give a pause and continue.

| v 28 Dordvo A By, FAFHI.

Not bother for what is happening in the classroom.

SBEEAEES” D 208 bgomg“m.

Punish those who are causing disturbance.

3 % 308 DBADITB) S0CoBDEAD.

Send out the students who are causing disturbance.

e38308 DHODD 3w5g:um SEHD Aood el

00BN,

Question Number : 79 Question Id : 4796971438 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which teaching method is learner’s participation most passive?
D S BTDBAS Deegdow BPEI(B0[0 DY D 3%’3&?@&50?

Options :
Discussion method

t:ﬁU“l‘jﬁCg@.

Lecture method.

e:::mﬁ‘“ca pelalil
2.¥ &

Demonstration method.

|« DB DG,

Project method.

DSLNT® 3‘5"’3'

Question Number : 80 Question Id : 4796971439 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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To improve the achievement levels among the students. it is necessary

3)::6}3@55 DV FET° Q'J::m.f) 20oEdS e HFEIDG
Options :
to provide high salary to teachers.

aﬂvw§wwu33 woSRTeD RDCoO.

1. %
to change the curriculum.
. FEOEFVER SrdyCo.
to change the teaching methods often.
.- 5" ST DGBOVRD SSOT Ay Eo.
to evaluate students continuously.
3)1:5"563&: balatolsTe! Sosrerjoso.
4.+ )
General English
Section Id : 479697117
Section Number : 9
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697126
Question Shuffling Allowed : Yes

Question Id : 4796971440 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (81 to 85)
Question Label : Comprehension
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Effective teacher education programmes recognize the complexities of
teaching and learning. Teachers are not mere transmitters of knowledge.
but facilitators of learning. The national Council for Teachers Education
(NCTE) has introduced reforms aimed at enhancing the quality of teacher

education in India. focusing on competency-based teacher education.

Teacher education should integrate theoretical foundations with practical
applications. enabling teachers to develop a critical understanding of the
curriculum. pedagogy and assessment. Ultimately, the goal of teacher
education 1s to foster a community of practice. where teachers engage in

ongoing professional development. reflection and collaboration.

Sub questions

Question Number : 81 Question Id : 4796971441 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the primary goal of effective teacher education programmes.
according to the passage?

Options :

- To transmit knowledge to students.
To enhance the quality of teacher education

5 % To develop teacher’s learning skills.

L% To discourage professional competency.

Question Number : 82 Question Id : 4796971442 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the primary benefits of fostering a community of practice

among teachers?
Options :
| It promotes isolation among teachers.

) % It enables teachers to develop technical skills.

It facilitates ongoing professional development and
3« collaboration.
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L% It focuses solely on administrative tasks.

Question Number : 83 Question Id : 4796971443 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

How does competency — based teacher education. as introduced by
NCTE. likely to impact teachers’ education programme?

Options :

| It will focus solely on theoretical knowledge.

It will emphasize the development of specific
,  competencies and skills.

- It will neglect the importance of practical experience.

It will promote a one-size-fits-all approach.
4. %

Question Number : 84 Question Id : 4796971444 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the ultimate goal of effective teacher education. according to the
passage?

Options :

- To develop teachers as mere transmitters of knowledge.

5 % To discourage competition.

5« To foster a community of practice among teachers.

r To enhance student achievement.

Question Number : 85 Question Id : 4796971445 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

How does effective teacher-education programme define to the role of
teachers?

Options :

| Iere transmitters of knowledge.

) % dictators of notes.
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_ unprofessional and uncritical.

' facilitators of learning.

Sub-Section Number : 2
Sub-Section Id : 479697127
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 4796971446 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following expressions 1s correct?
Options :

| % Childran books

, % Childrens books

;3 Children’s books

4 » Child books

Question Number : 87 Question Id : 4796971447 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct passive form of the sentence:

“They had given the students detailed instructions.”
Options :

| % The students were being given detailed instructions.

5 % The students have been given detailed instructions.

. Detailed instructions were given to the students.

4 The students had been given detailed instructions.

Question Number : 88 Question Id : 4796971448 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with appropriate verb form.

The accident took place. when she the road.
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Options :
| % 15 CrOssIg

has crossed
2. %
, » Was crossing

4 » would cross

Question Number : 89 Question Id : 4796971449 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct verb to fill the blank
Neither the leader nor his followers present.

Options :
1. # 18

) % Was
3.« Were

4 % has

Question Number : 90 Question Id : 4796971450 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find out the correct sentence:

Options :

L% I am plan to attend the wedding party tonight.

5 % I planning to attend the wedding party tonight.

s v I am planning to attend the wedding party tonight.

4% I am been planning to attend the wedding party tonight.

Question Number : 91 Question Id : 4796971451 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the opposite of ‘pragmatic’

Options :
| % realistic
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> % sensible

3 ¥ 1dealistic

L% logical

Question Number : 92 Question Id : 4796971452 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Peter’s buovant attitude was the main reason for their appreciation.
(Choose the meaning of the word underlined)

Options :

| » hasty
) cheertul

3 % smart

4 = cruel

Question Number : 93 Question Id : 4796971453 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the antonym of the word “vivid’

Options :
| = bright

) dull
5 % Clear

4 = colorful

Question Number : 94 Question Id : 4796971454 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rearrange the following sentence to make logical and grammatical
Sense:
Options :

v Although he was 1ll, he went to work.
1. -
. He to work went, although he was 1ll.
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- He was although ill, he went to work.

L He although was 11l went to work.

Question Number : 95 Question Id : 4796971455 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with suitable homonym:

They were travelling for many days and they were completely exhausted.

So, they wanted to take a immediately.
Options :
1. % brake

, « break

; % breech

4 % breach

Question Number : 96 Question Id : 4796971456 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct connective to complete the sentence:

“The test was challenging. I managed to finish it on time.”
Options :

| % since

> % because

3« but

4 « although

Question Number : 97 Question Id : 4796971457 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct sentence.
Options :

. I have returned all the books to the library vesterday.
1.
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_— Though Ram worked very hardly, he failed.

3 @ Everyone admired his courage.

4 1should like to travel in the abroad.

Question Number : 98 Question Id : 4796971458 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correctly spelt word:

Options :
| = affedevit

, % afidevit
3 % afidavit

. affidavit

Question Number : 99 Question Id : 4796971459 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct form of reported speech of the sentence :
‘I can finish this project by Monday.’ she said.

Options :

J She said she could finish that project by Monday:.
1. o i

) % She said I could finish this project by Monday.
3 % She said she can finish that project by Monday.

4 = She said she will finish that project by Monday.

Question Number : 100 Question Id : 4796971460 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
No other boy is as as Gopal in the class.

Options :
|« smart

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 50/75



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action
. smarter

3 % more smart

” most smart

General Knowledge

Section Id : 479697118
Section Number : 10

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697128
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 4796971461 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What day 1s celebrated as ‘Armed Forces Flag Day in India’

TP EBEBH JoH0G SV Fotr BS S Ho M D Bard 2ERHL0ETE?
Options :
December 6

| % G025 6

December 7

7 W adod 7

December 25

5 % G085 25

December 30
4. % Garoead 30

Question Number : 102 Question Id : 4796971462 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who is the father of Indian Missile Technology?

2SO £063 FoEAE DTV DSHE?
Options :
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Prof UN. Rao
- TH6 ai.e9D.0°)

Dr. Vikram Sarabhai

5 % T Do Froreradd

Dr. A.PJ. Abdul Kalam

5 @ G QDT 90 Sero
. (A

Dr. C.V. Chandrashekhar

L% & .. Bog3nd

Question Number : 103 Question Id : 4796971463 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is the largest public sector undertaking of the
Government of India.

08 TES" DB 6B HFSY VA DYS Gors BBV S°J DoR?

Options :
Gas Authority of India Limited

- R 008 3D Mocair HBE

Indian Railways

, , ROACDD BED

Air India
3 % D06 ool

Indian O1l Corporation

., WOGOADD esanS SRNCERES

Question Number : 104 Question Id : 4796971464 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who wrote the novel ‘The Suitable Boy’

'S A0eewed erod) AV G D567

Options :

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 52/75



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action

M.R. Anand
| % «0.236 . e3508

V.S. Naipaul
, x D.00DDFS

Vikram Seth

3 WDE0 DS

Chetan Bhagat
4 % DI DS

Question Number : 105 Question Id : 4796971465 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Elon Mask 1s a famous global

DD BT, 28 DD FrEG[o TFodD

Options :
Writer

| % lelnTobbla

Politician

., Tadadd

Musician

3 % POASSEED

Businessman

4 o THTODS

Question Number : 106 Question Id : 4796971466 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which state ‘Rani Durgavathi Tiger Reserve’ 1s located?

‘T7ed OTPHB PR DodLEe Sogo’ D TvR0 &5° &od?
Options :
Odisha

1. % a7
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Madhya Pradesh
) v 05039

Rajastan

PR
P

3. %

Kerala

, » 509

Question Number : 107 Question Id : 4796971467 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

g21.digialm.com/CAE/viewHtmIPDFAction.action

Bihu 1s the traditional dance form of the state

D0 03 FroDETOL HBBS D ToIrIS Loe0BoDHE?

Options :
Assam

L 9_‘2'.5"’30

Nagaland

5 % TR oG

Arunachal Pradesh

5 % DOEFHS DB

Sikkim
fﬁaébo

4.%

Question Number : 108 Question Id : 4796971468 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

The tax paid by Indians which come under ‘Direct Tax’

EA0k0en B0 DALY E° DAL DA © DBGG S HWNDE.

Options :
GS.T.

| = 2.003.8.
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Excise Duty
« agﬁ drs&

Customs Duty

|« SRy ExgS

Income Tax

e3P0 P
4. = Al

Question Number : 109 Question Id : 4796971469 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Chairman of the high-level committee on ‘One Nation One
Election’

‘DD DND-DY VLD D50 2 aLAODED aéle:ﬁgﬂow S

g, BELD
Options :
Draupadi Murmu

TDHE ;ﬁmmg}

Prathibha Patil
DA FeedeS

Ramnath Kovind

3 v Tod EDod

D.Y. Chandra Chood
&.D.B0 BrE

Question Number : 110 Question Id : 4796971470 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which line of longitude passes through central India.

@ Baoro%o e BFo D0GT DV B.
Options :
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Tropic of cancer

L SD‘%EJQ B

Tropic of Capricorn

5 % DG 0@
Equator
e;ir;.‘ussis o
3. %
Polar
4 % Cﬁ&&ﬁ 6&3
Educational Issues
Section Id : 479697119
Section Number : 11
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697129
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 4796971471 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘The Destiny of the Nation 1s built in her class rooms’ stated by

‘0833 a;’:b:.‘q‘gego SEHD (e bﬁée:ﬁm@mc&' ) a"a:"sboaétﬁ'?

Options :
Radha Krishna Commission

U"G}"%Q'E a0

1. %

Mudhaliyar Commission

) x 206daDs sNS

Kotari Commission

s » S50 so0d
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Eshwarbhai Patel Comumittee

, % S8020% GBS S

Question Number : 112 Question Id : 4796971472 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Naitalim’ 1s associated with

‘Do O & Hooto EDADT.
Options :
Sr1 Aurobindo

| % B @6DosS

M.K. Ghandhi

) 2o.5.mod

Rabindranath Tagore

3 % O°Do@T S Torird

Jiddu Krishnamurt:

| » B HR0Y

Question Number : 113 Question Id : 4796971473 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The book ‘Emile’ authored by

‘DO’ o Gesowed
Options :
J.J. Rousseau

1. 2.3.670°
John Dewey

) % Er o) c.‘.o}go.u

Paul Goodman

, TS

3.
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Maria Montessori

4 x 0803 55705770

Question Number : 114 Question Id : 4796971474 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Gurukula system’ of education was prevalent in

FOEEID D[V DA & Se0eS” ot DA,
Options :
Contemporary period

| % P050D stwoes

Modern period
) % 3608 P00

Medieval period

3 x DOG[OOA SP0e”

Ancient period

i FOD w0

Question Number : 115 Question Id : 4796971475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher should strive to create climate in the class room.
28 & Trioinc 3613 (OS TT G0 SO ottt
OB otd.
Options :
authoritarian

. VOS ORI OS

democratic

v D S

laissez-faire

, w B8PS
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transformational
4w GPIroSCs°Es

Question Number : 116 Question Id : 4796971476 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Curriculum for School Education to the Nation’ 1s suggested by
‘8oETj00 06 K}J"Z;Eg J)ciosé‘z.’qB D6 B DN’ AHOD Lo LAID.

Options :
|« NUEPA

, « NCTE

3 v NCERT

, % SCERT

Question Number : 117 Question Id : 4796971477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The chairperson of Telangana Education Commission is

Sorre amgz:,s S0P B0 DO
Options :

A Murali

L5
L o). &GP

Hara Gopal
OR S
Rivaz

., Boirs

Murali Manohar

4 % 0069 I506

Question Number : 118 Question Id : 4796971478 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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New pedagogical and curricular structure suggested by NEP 2020 1s

DD.9.2 2020 oD AFSD £5°GT° S0Bakw FERETEVS D) S
Options :
3+5+3+4

,x3+3+2+4
;% 10+2+4

Lv5+3+3+4

Question Number : 119 Question Id : 4796971479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The organization which conducts various entrance examinations at the
national level is

20D Froe” DD D2 DL Jdrod R0
Options :
| « CBSE

, » NCERT

; v NTA

, » UGC

Question Number : 120 Question Id : 4796971480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Right to Education (RTE) Act enacted by the Indian Parliament on

20D Doef 375, 980 (256.8.9) TG00 &° AT BOLED B0

Options :
315 March. 2008

| % 31 238y, 2008

4™ August. 2009
5 4o, 2009
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5™ September, 2008

, x5 DRowS, 2008

3% December, 2007

4 % 3 GDowb, 2007

Question Number : 121 Question Id : 4796971481 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which examination provides eligibility for the recruitment of school
teachers at the national level?

2 O0H Froe” EJEe§asOAT DAOLEMLL D DELE (T wdsd

.ﬁgmjoa’:)e.)domoé.
Options :
| % CSIR-NET

, % UGC-NET
5 ¢ CTET

, x NTA

Question Number : 122 Question Id : 4796971482 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Bhoodan Movement (Land Gift Movement) 1s associated with

BrEES &G0 (a0 yimorEdod ea}gmo) DSBS owodso £dA

eod.
Options :
Vinoba Bhave

L DS D

Mahatma Gandhi

5 % m#w& mod

Jaya Prakash Narayan

3 % 2200 PS°a TPTCO
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Karpuri Thakur

| x SETNBTErE

Question Number : 123 Question Id : 4796971483 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

International Literacy Day 1s observed on

03T 9T B0 O Fard 2EVEOBRA?
Options :
15™ September

% 1523006

8™ November

o 8 ddoead

8™ September

3 8@30&:5

11™ November

4 % 11 dBows

Question Number : 124 Question Id : 4796971484 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sarva Shiksha Abhiyan (SSA) scheme focuses on

‘ROG BE DA (DD.02.) BIR Sy DS
Options :
Pre-primary Education.

% STPOY FEDE Desg

Elementary Education.

5 202008 36375

Secondary Education.

2 ;5.1“(;553135 3)::.‘35
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Senior Secondary Education.

&) & ;ﬁz'*r:;’)?go"bs 3)«:35

4.%

Question Number : 125 Question Id : 4796971485 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Epistemology as a branch of Philosophy deals with
SS TR0 Fo WO ‘ra;a‘: AT’ B (D8O 0N R0L?
Options :
Values

| x Q0D

Morals
L x DISS

Society

3 % ReAT°250

Knowledge

2380
4.4 =

Question Number : 126 Question Id : 4796971486 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The National Education Policy (NEP) 2020 envisions an education
system rooted in

203 Doy Do (DD.2.) 2020 Sagrerente €985

K)m“?g;ﬁéé“gm £ 65008008,
Options :
Indian Ethos

y 2PSAAD eeeE Sgdforen
1. ¥

Indian Puranas

) 2GR DHYT°ETLL
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Indian Itihasas

J 2PEAOD RADTEIPe

Indian Polity
erESah Tradairen

Question Number : 127 Question Id : 4796971487 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
PARAKH is an initiative by which national academic body?

‘DED’ 0B0DA D St .gvcu: 200 g '6D?
Options :
1. % UGC

NCERT
2. ¥

, » CBSE

, % NIOS

Question Number : 128 Question Id : 4796971488 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

National Institute of Open Schooling (NIOS) is primarily serving the
educational needs of the children

D00 DTS D LS 2% Hofl (AD0LADD) DB s Doy

€0 9TTA) éd.a&éasg a@—ﬁoaa@?

Options :
who are informal schooling.

o o T bmﬂsgjm.

who are outside the school.
v FET0 DIDR 50 &) T

2

with disabilities.

Do £DAD deew.
3, % =
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from deprived sections.

4 % DB0Y Frow HGoeS D Heew.

Question Number : 129 Question Id : 4796971489 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Annual Status of Education Report (ASER) for India 2023 was
released by

O BFY ‘IO 2)505%“0.13 ADHHE 2023 D2 ‘J-oc:-“.-g DEDGD Bo&?

Options :
NALSAR Foundation

. der6 DoEND

Cry Foundation

s oS

2. %

Pratham Foundation

3.9 DB @“Gaﬁ.&

Pehal Foundation
4w DITS DoEND

Question Number : 130 Question Id : 4796971490 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Four Pillars of education was articulated by
"Des) TR Voerw” A H(EEBDIE.

Options :
Indian Education Commission.

| % WOAODD IS SND

American Education Commission.

. ODBSD Dd}éé‘?’qﬁ D
2.

British Education Commission.

|« D82 0ERD sDo0d
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UNESCO Education Commission.
A odnbﬁﬁﬁ DEDBND SAAD

Computer Awareness
Section Id : 479697120
Section Number : 12
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697130
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 4796971491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an operating system?
208 TAS° DB DTHH Do SE?
Options :

Mozilla

202er
1.« £

Android
« oROaG

Solaris
. Teordd

Windows
4. ® 30&:; E)

Question Number : 132 Question Id : 4796971492 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Operating systems manage computer resources and provide a platform
to run software. Which type of operating system allows more than one
user to access the computer resources at the same time.

58800 DRI SoRPHS HHEWD DELEFIon B FY Db
6D BODEEIS 208 DA WoATAW. D BERD BDBEBA Do w3
2D0000e5" 2,88 Eobs DEVRS Eobelontlaln e SISES) S0RP(6 D1GRD0
DA@IAHoIE SIS 0B RR00E.

Options :

Single-user
Dofied adorab

Real-time
| BOS Go

Multi-user

200 aras
3. ¢ o

Mobile
4 % 200835

Question Number : 133 Question Id : 4796971493 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
txt file belongs to

Axt SLJﬁ B DoBIA.
Options :

L% MS-WORD

) % MS-ACCESS

3 NOTEPAD

4% MS-EXCEL

Question Number : 134 Question Id : 4796971494 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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A set of one or more attributes that can uniquely identify a record in a
database 1s called
GEér 82 & a8 853 DB{Sorr Mdodd A 2088 Joo DEN D

LETL AN D Sotrdd?
Options :

Super key
| @ D6 8

Candidate key

2w SHRS

Alternate key
DERgaT) O g

3. %

Primary key
L TS S

Question Number : 135 Question Id : 4796971495 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a low-level language?

208 T°83e5° DA So0d .§°cm erotigE?
Options :

| Java

, » Python

Assembly
3. ¢

4 n PQL

Question Number : 136 Question Id : 4796971496 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
While working in MS-Word. which feature helps a document with a

different name or location. allowing users to preserve the original file
while creating a new copy?

MS-Word &5° HIBR0DY 2K, D DBE TrerfRoos & §8 DOF S
DB 0BF0S” DD BaDE0S” DIFOH DSOS, STPIT® WD S &
werd eod §& 520 DyJows Hioy?
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Options :
Print preview
1. % ?QJOQS :;QJ,S

Save
2. 8 oD

Save as
3 o DD €5

Edit
L % DES

Question Number : 137 Question Id : 4796971497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel, users work with a grid of cells. Each cell 1s identified by
a combination of row numbers and column letters. What 1s the
reference for a cell i column A and row 4?

MS-Excel &° DIBreiccren 265, A& 0 HIDPED. O 05 & HED
RofeN HOCKD S0 LT SO0 & MHRFW. Swo A DBk
DER 4S5 &) & €O AT dDD?

Options :

, o Al

3 % AA

4. % =4

Question Number : 138 Question Id : 4796971498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following formats, data 1s stored i relational database
management system?

BSRDS Tre B DB 085 DYoo 5° & S08 Toe5° D ATDE GEer
2)&)5 BOLICIER0D ?

Options :
Graph
1. % UE’:J

Table

Binary

3. % 500

Object

ese35
4, % e

Question Number : 139 Question Id : 4796971499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What i1s an Excel feature that displays only the data in column(s)
according to specified criteria?

Excel &° @ 236 53 DATIPO D00 IrdDd s () & derso
DCBy2067
Options :

Filtering
f‘,::%}:&oﬁ

Sorting
5 % 3“905

Formula
3 % SO

Pivot
4@ DS

Question Number : 140 Question Id : 4796971500 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The full form of ‘GPS’ 1s
GPS & 38 oo

Options :

Graphical Placing System
| % TPOES DDoh Do

Global Positioning System
. f:fa:ﬁ Jredoh i)‘é‘.go

Global Placing System
3 % fexe5 Hoh o

Graphical Programing system
, x PSS D'roh Do

Question Number : 141 Question Id : 4796971501 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s not a function in MS-Excel.
05 MS-Excel 65° 208 2059 500

Options :
% AVERAGE

, v SUBTRACT
, » COUNT

L% MAX

Question Number : 142 Question Id : 4796971502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a power pDillt preseutation

256 FrowdS PFoSnD &°

Options :
Sound clips can be inserted but not movie clips.
| % To& $D L0 FDyoRduy 5 20D &5 2 s,
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Movie clips can be inserted but not sound clips.

. 207 $D VA WD oDy 57 ok §D VR T

Sound and movie clips cannot be inserted.
5 % JT0& HDBOIL 20D $D VIO WDOBTAN.

Movie clips and sound clips can be inserted.

207D $5 e 206050 Aok §D LR T oSEN.
4.9

Question Number : 143 Question Id : 4796971503 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following font effect is not available in MS-PPT font

dialogue box?
MS-PPT rot5 Gerh ey &° $08 JrotS Hardo D8 wocereaes’
Se50?

Options :
Underline
1. %

) Strikethrough
5 % Shadow

Emboss
4, %

Question Number : 144 Question Id : 4796971504 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sorting emails by date will arrange emails

R} DASY D SE G G Bao Wotl TR Jer
gmwééﬁoﬁmﬁi mrﬁe@o&?
Options :
Alphabetically

|5 BTHBOSES S0’

By the sender’s name

5 % D00 S DG STrorT
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Based on received or sent time

OGO T D0 NAO0 e3rGSorT
3.9

Based on subject line
RYS TS esgdorr

Question Number : 145 Question Id : 4796971505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In computer. which virus spreads without user intervention?
SoRP(d & DIGBFAETEIE E'(Sj0 Tt T Bod DED?

Options :

Trojan
| % Sad

Worm

v T

Spyware
2y 26

3. %

Ransomware

L x D D3 36

Question Number : 146 Question Id : 4796971506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not related to Internet?
208 75" QoS D & 20220H0NIE °IE.

Options :
. = URL

, » HITP
; v OMR

, » COOKIE

Question Number : 147 Question Id : 4796971507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which programming language is most commeonly used in AT and ML ?
£0:0 ARy H0BAID LS TB)oh erofigd e JTrseon

D&Y O eDATHODS J'ro?
Options :
HTML

1. %

. Python
;. x CSS

4% JavaScript

Question Number : 148 Question Id : 4796971508 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

15 a branch of science that deals with programming the systems
in such way that they automatically learn and improve with experience.

sjig.:ﬁ‘{gum d oo Trusorr ;3::53‘)53:5 Do HBOID 9RTI0S
0B HBS Desorr T'mro VoGS D{HI80B POy T

Options :
Machine learning
5,
L 2020 Ty 0h

Cloud computing
5, % §& Solyridoh

Neural network

- méda"i iT:S) ;ﬁﬁgj:,

Internet of things

Q086 D& eso t.‘;':oﬁ;)
4. %

Question Number : 149 Question Id : 4796971509 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which software application design simulates human communication
through text or voice?
4 .5“33 D6 WHEND JTrDD em?gf.}éxqﬁ A SBdo To Jrde oo

29308 B0TiercoAd?
Options :
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| % Zoom

) Chatbot

3 & Webex

4 % Teams

Question Number : 150 Question Id : 4796971510 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the purpose of a web browser’s refresh or reload button?

265 F°ab 82 Sor 8S5°E S g, Sway adPo

Options :
Close the current tab.
Perebla éJ"éES A & daieio.

To open new tab.
5 % §'¢ &ryed 80067s.

To return to previous web page.

s 008008 D5 HAS HBA TrHS.

To reload the current web page.
| o DR0S D5 D& D DBA S°E Sobers.
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